
RAVI TEST PAPERS & NOTES, WHATSAPP – 8056206308
CHECK FREE TEST PAPERS  www.ravitestpapers.com & www.ravitestpapers.in

JEE MATHS
𝐜𝐨𝐦𝐩𝐥𝐞𝐱 𝐧𝐮𝐦𝐛𝐞𝐫

15TH AUGUST 2025

http://www.ravitestpapers.com/
http://www.ravitestpapers.in/


.  𝐢𝟓𝟕 +
𝟏

𝐢𝟏𝟐𝟓
=

𝟏) 𝟎 𝟐)𝟐𝐢 𝟑) − 𝟐𝐢 𝟒) 𝟐
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𝟏) 𝟏 𝟐)  − 𝟏 𝟑) 𝟎 𝟒)  − 𝟐

The value of  in + in+1+ in+2 + in+3 =
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𝟏) 𝐢 𝟐)  − 𝐢 𝟑) 𝟏 𝟒)  − 𝟏

1+i
1−i

4n+1
=
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𝟏) 𝟎, 𝟐 𝟐) 𝟎, −𝟐 𝟑) 𝟐, 𝟎 𝟒)  − 𝟐,0

If 
1+i
1−i

3
−

1−i
1+i

3
= 𝐀 + 𝐢𝐁 then A,B are 

Solution:
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𝟏) 𝟐 𝟐) 𝟒 𝟑) 𝟖 𝟒) 𝟏𝟔

The least positive integer n such that 
2i

1+i

n
 is a positive integer is

Solution:
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𝟏)
𝟒

𝟐𝟓
+ 𝐢

𝟑

𝟐𝟓
𝟐)

𝟒

𝟐𝟓
− 𝐢

𝟑

𝟐𝟓
𝟑)  −

𝟒

𝟐𝟓
− 𝐢

𝟑

𝟐𝟓
𝟒) 𝟒 − 𝟑i

The multiplicative inverse of (4+3i) is  

Solution:
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𝟏) 𝟏𝟓 𝟐) 𝟏𝟓𝒊 𝟑)  − 𝟏𝟓 𝟒)  − 𝟓𝐢

−𝟑 −𝟕𝟓 =
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𝟏) 𝟏 𝟐) 𝟒(𝐚𝟐 − 𝐛𝟐) 𝟑) 𝟐(𝐚𝟐 − 𝐛𝟐) 𝟒) 𝟑(𝐚𝟐 − 𝐛𝟐)

If (𝐱 + 𝐢𝐲)𝟏/𝟑= 𝐚 + 𝐢𝐛 𝐭𝐡𝐞𝐧
x
a

+
y
b

= 

Solution:

𝒙 + 𝒊𝒚 =  (a + ib)𝟑= 𝒂𝟑 + 𝟑𝒂𝟐𝒃𝒊 − 𝟑𝒂𝒃𝟐 − 𝒊𝒃𝟑

Cubing on both sides of given equation

⇒ 𝒙 + 𝒊𝒚 =  𝒂(𝒂𝟐 − 𝟑𝒃𝟐)  + 𝒊𝒃(𝟑𝒂𝟐 − 𝒃𝟐)


𝒙

𝒂
+

𝒚

𝒃
= 𝟒𝒂𝟐−𝟒𝒃𝟐 = 𝟒(𝒂𝟐 − 𝒃𝟐)

⇒
𝒙

𝒂
= 𝒂𝟐 − 𝟑𝒃𝟐 ,    

𝒚

𝒃
= 𝟑𝒂𝟐 − 𝒃𝟐



𝟏)
6u

u2+v2
𝟐)

2u

u2− v2
𝟑)

3u

u2+v2
𝟒)

5u

u2− v2

If 𝐮 + 𝐢𝐯 =
3i

x+iy+2
 then y in terms of u, v is 
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𝟏) 𝐜𝐢𝐬
𝟐𝛑

𝟑
𝟐) 𝟐𝐜𝐢𝐬 −

𝟐𝛑

𝟑
𝟑) 𝐜𝐢𝐬

−𝟐𝛑

𝟑
𝟒) 𝟐𝐜𝐢𝐬

𝟐𝛑

𝟑

The mod - amp form of -1- 𝟑𝒊 is

Solution
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𝟏) 𝐜𝐨𝐬
𝛉

𝟐
 𝐜𝐢𝐬

𝛉

𝟐
𝟐) 𝟐𝐜𝐨𝐬

𝛉

𝟐
 𝐜𝐢𝐬

𝛉

𝟐

𝟑) 𝟑𝐜𝐨𝐬
𝛉

𝟐
 𝐜𝐢𝐬

𝛉

𝟐
𝟒) 𝟒𝐜𝐨𝐬

𝛉

𝟐
 𝐜𝐢𝐬

𝛉

𝟐

The mod - amp form of 1+cos𝛉 + 𝐢 𝐬𝐢𝐧𝛉 is

Solution

RAVI TEST PAPERS & NOTES, WHATSAPP – 8056206308
CHECK FREE TEST PAPERS  www.ravitestpapers.com   & www.ravitestpapers.in

http://www.ravitestpapers.com/
http://www.ravitestpapers.in/


𝟏)  − 𝟐𝐜𝐨𝐬𝛂[𝐜𝐨𝐬 𝝅 + 𝜶 + 𝐢 𝐬𝐢𝐧 𝝅 + 𝜶 ]

If  
π
2

<α<
3π
2

  then the mod - amp form of  (1+ cos2𝜶)+ i sin 2 𝜶 is 

2) 𝟐𝐜𝐨𝐬𝛂[𝐜𝐨𝐬𝜶 + 𝐢 𝐬𝐢𝐧𝜶]

3) 𝟐𝐜𝐨𝐬𝛂[𝐜𝐨𝐬(−𝜶) + 𝐢 𝐬𝐢𝐧(−𝜶)]

4) − 𝟐𝐜𝐨𝐬𝛂[𝐜𝐨𝐬(𝛑 − 𝜶) + 𝐢 𝐬𝐢𝐧(𝛑 − 𝜶)]
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𝟏)  −
𝝅

𝟑𝟎

The principal value of argument of the complex numbers 

           sin
16π
15

+i 1+ cos
16π
15

 is

2) −
29π
30

3)
8π
15

4)
−8π
15
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𝟏) 𝒏𝛑

 If (a1+ib1)(a2+ib2) … (an+ibn) =A+iB  then Tan−1 b1

a1

+Tan−1 b2

a2

+ 

…+Tan−1 bn

an

=

2) nπ+Tan−1 b𝟐

a𝟐
+…+Tan−1 bn

an

3)  nπ+
 
Tan−1 B

A 4)  Tan−1 B
A

Solution



𝟏) > 𝟏 𝟐) < 𝟏 𝟑)𝟏 𝟒) 𝐥𝐢𝐞𝐬 𝐛𝐞𝐭𝐰𝐞𝐞𝐧 𝟎 𝐚𝐧𝐝𝟏

If  𝛂 𝐚𝐧𝐝 𝛃 𝐚𝐫𝐞 𝐫𝐞𝐚𝐥 𝐭𝐡𝐞𝐧
α+iβ
β+iα

 =
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𝟏)
𝟏

ത𝐙
𝟐)

𝟏

𝐙
𝟑) −

𝟏

𝐙
𝟒) −

𝟏

𝐙

If  𝐳 𝐢𝐬 𝐧𝐨𝐧𝐳𝐞𝐫𝐨 𝐜𝐨𝐦𝐩𝐥𝐞𝐱 𝐧𝐮𝐦𝐛𝐞𝐫 𝐭𝐡𝐞𝐧
ത𝐙

𝐙 𝟐 =

Solution:
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𝟏) 𝐙ത𝐙 + 𝟏 𝟐) 𝒁 − 𝟏 𝟐 𝟑) 𝒁 𝟐+1 𝟒) 𝒁 𝟐+2

 (𝐙 − 𝟏)(ത𝐙 −1) can be written as
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𝟏)
𝒂𝟐 + 𝒃𝟐

𝒄𝟐 + 𝒅𝟐
𝟐)

𝒂𝟐 + 𝒃𝟐

𝒄𝟐 − 𝒅𝟐
𝟑)

a2+b2

c2+d2 𝟒) None

 If x+iy =
a+ib
c+id

  then (x2+y2)2 =
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𝟏) 𝐱 + 𝐲 𝟐)𝐱2 + 𝐲2 𝟑)𝐱𝟐 − 𝐲2 𝟒) x-y

If  (1-i)(1-2i)(1-3i) ….. (1-ni) = x-iy then 2.5.10 …… (1+n2)
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𝟏)  ± (𝟓 − 𝐢) 𝟐) ± (𝟐 + 𝐢) 𝟑) ± (𝟑 − 𝐢) 𝟒)  ± (𝟏 + 𝐢)

𝟖 − 𝟔𝐢 =
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𝟏)  ± 𝒙𝟐 + 𝒙 − 𝟏 𝟐) ± 𝒙𝟐 + 𝟐𝒙 + 𝟏

𝟑)  ±
x2+x+1

2
 + + i

 x2−x+1
2

𝟒) ±
x2−2x+1

2
 + + i

 x2+2x+1

2

21. 𝒙 + 𝒊 𝒙𝟒 + 𝒙𝟐 + 𝟏 =
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𝟏) 𝟐 𝟐)
𝟏

𝐢 𝟐
𝟑) −𝟏 𝟒) 𝐢 𝟐

𝐢 − −𝐢 is equal to

Solution
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𝟏)𝟒𝐧 𝟐) 𝟏 𝟑) 𝟐𝐧 𝟒)𝟑𝐧

If the first term and common ratio of a G,P, are both  
𝟏

𝟐
𝟑 + 𝐢 then  

the absolute value of its nth term is

Solution Given a = r = 
1
2

( 3+i) 𝒕𝒏 = arn-1

=
3+i
2

𝒏

=
3+i
2

𝒏

= 1 

𝒕𝒏 = 𝒂𝒓𝒏−𝟏 = 𝒓. 𝒓𝒏−𝟏 = 𝒓 𝒏
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